lights

WN-RE561116 FLOOD BEAM
LED Round Cab Light: 9-32V, 18W Cree LED, : .
Flood Beam, 1050 Effective Lumens .
Replaces: RE561116, RE336111, RE285628, H7606

Fits: 2510, 2904, 3020, 4000 4020, 4030, 4040, 4230, 4240, 4320, 4430, 4440,
4520, 4620, 4630, 5020, 6030, 7020, 7520, 8430, 8450, 8630, 8650 & 8850

WN-RE561117 TRAPEZOID BEAM
LED Round Cab Light: 9-32V, 18W Cree LED, = I
Trapezoid Beam, 1050 Effective Lumens ]
Replaces: RE561117, RE336112, RE285629, H7610

Fits: 2510, 2904, 3020, 4000 4020, 4030, 4040, 4230, 4240, 4320, 4430, 4440,
4520, 4620, 4630, 5020, 6030, 7020, 7520, 8430, 8450, 8630, 8650 & 8850

134com

11.75cm

WN-1066LED

LED Round Cab Light Assembly
with WN-RE561116 LED Lamp

FLOOD BEAM

-

WN-4020LED

LED Round Cab Light Assembly
with WN-RE561117 LED Lamp

TRAPEZOID BEAM

Both assemblies include: LED light, rubber light ring,
power wire leads through post and fender washers.
Every thing you need for a quick install.

SPOT BEAM

-—

LED Cab Light: 9-32V, 12W Cree LED,

Spot Beam, 600 Effective Lumens

Replaces: RE306510, R161288, RE37450 & RE340681
Fits: 4040, 4050, 4240, 4255, 4440, 4455, 4555, 4560,

4640, 4755, 4760, 4840, 4955, 4960, 7200, 7400, 7600,
7700, 7800, 8100, 8100T, 8200, 8300 & 8400

WN-RE306510

LED LIGHTING

www.neils:com:ail)



LED LIGHTING ™.

WN-RE330061
Side Mount

WN-RE306510
Roof Mount

WN-RE330062
Bottom & Rear Mount

WN-RE342545
Hood Mount

WN-RE330060
Fender Mount

HOOD FENDER SIDE BOTTOM REAR ROOF

WN-RE342545 WN-RE330060 WN-RE330061 WN-RE330062 WN-RE330062 WN-RE306510
JD 7000 Series 22 ) . 4 2€
JD 8000 Series | & X X X X X
JD 9000 Series | P& X X X

a
WN-G6000LEDKIT

WN-RE330061 Side I\rlount, tilts to cover more area!

Want the best possible lighting solution for your JD 8000
Series tractors? Look no further than our WN-8000LEDKIT.
Giving you the best possible light coverage from every angle!

LB e

Fits JD: 8100, 8200, 8300, 8400, 81007, 8200T, 8300T, 84007,
8110, 8210, 8310, 8410, 81107, 8210T, 8310T, 8410T

Kit Contains:

g Pl
WN-RE330060 x 2

WN-RE330061 x 2 WN-RE330062 x 4

*Kit does NOT included the front roof light WN-RE306510

WN-RE342545 x 4

LED lightsfogchniDeeicgliactors,

" WN-RE330062 BOTTOM & REAR MOUNT

@

-‘f P v

S—

ITEM

IGOTTmMOMN®m®>

DESCRIPTION
Carriage Bolt, M8 - 1.25 X 50mm
Bracket, Rear Light Mount
Bracket, Bottom Light Mount
Clamp Rotate
Mount
Hex Lock Nut with Nylon Insert
Hex Head Screw 5/16 - 18 x 0.50
Flat Washer 5/16" ID x 1.25" OD

Bottom Light Mount Rear Light Mount

" WN-RE342545 HOOD MOUNT

ITEM
A
B

\__

DESCRIPTION
Grille Mount Ball BK545
Hex Head Screw 5/16 - 18 x 0.50

" WN-RE330061 SIDE MOUNT

ITEM
A

m m O oo w

S—

DESCRIPTION
Carriage Bolt, M6 x 45mm
Clamp
Rotate Mount BK061 Side Mount
Hex Lock Nut with Nylon Insert
Hex Head Screw 5/16 - 18 x 0.50
Flat Washer 5/16” ID x 1.25” OD

ORt

" WN-RE330060 FENDER MOUNT

ITEM

R —=——IOTMMON®>

DESCRIPTION
Carriage Bolt, M8 - 1.25 X 50mm
Hex Head Bolt 1/2 Drilled
Bracket, Fender Mount BKO60
Clamp Rotate
Mount
Hex Lock Nut with Nylon Insert
Hex Nut 1/2-13 UNC-2B
Hex Head Screw 5/16 - 18 x 0.50
Lock Washer, Spring
Wire Harness
Washer Plain Flat 0.70 x 1.75




	NP_JD_LED_Lights_02_PEC_A3_P1
	NP_JD_LED_Lights_02_PEC_A3_P2

